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HW 04.1

s TR TR P, T4mN1=36, N2=60, N5=23, N+—=49, N»=69, N5=31, Ne=131,
N7=94, Ns=36, No=167,01=3549 rev/min, it F4FH Om .
* For the gear train in the figure below, given Ni=36, N>=60, N3=23, N+=49, N+=69,

Ns=31, Ne=131, N7=94, Ns=36, No=167,01=3549 rev/min, please find M.
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HW 04.2

R —MARE AR EAENR, The
« HEHAAEL S m =5mm,
Iy RIEHRGEES A
« BABERHK You = 1.56, Youy = 1.76;
« B A K Vogy = 2.8, Yoy, = 2.28;
% A oppy = 314 MPa, opp, = 286 MPa,

« FEFNERGERT Y P S op, = 306 MPa
* X, 19] :
o (1) R—ANE4e 09 T W 57 3% AR K0P
* (2) BmEHN T HIL T IREA T B LERR?
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Deadline of this homework: Nov 07 @ 23:30

Link to submission;
https://ancorasir.com/?page 1d=3987

All homework MUST be hand-written.
No late submission is allowed!

Please refer to the above link for further details on how to
make the submission and the detailed deadline for submission. .i% i%N
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